1400

¢ 140

1185

I

290 30

200
p220

«:~~concrete

MI8 nuts

Galvonization

MI8 flat washers

Galvanization

M8 Spring washers

Galvanization

B B

embedded part

@235A

M10X40bol Stainless steel 2
140cover Aluminum 1
M12x40 Bolt Galvanization 2
M2 flat washers Galvanization 2
M2 Spring washers Galvanization 2
640 Arc cap ABS e
60Cap Galvanization 4
Mi2Lock nuts Gelvanization 4
Mi2flat washer Galvanization 4
29Circlip 63Mn 4
6205Bearing combination 8
6205Plastic insulation pad ABS 2
Ml0Lock nuts Gelvanization 4
Mi0flot washer Galvanization 4
rebite Al 3
140 top ralil @215B |
part name material quantity




